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SYLLABUS

Plants and Animals, India and the World, Science and Technology, Earth and Its Environment, Universe, Language and Literature, Entertainment, Social Studies, Sports,
Quantitative Aptitude and Reasoning, Current Affairs, Life Skills (Empathy, Effective Communication, Critical Thinking, Creative Thinking, Coping with Stress, Dedision
Making, Problem Solving, Interpersonal Skills, Managing Emotions, Self-awareness).

Achievers Section : Higher Order Thinking Questions from the above given Syllabus.

1. Identify the rainforest which is called the ‘Lungs of (A) Gujarat (B) Haryana
our Planet'. (C) Tamil Nadu (D) Bihar
(A) Asian rainforest = |
(B) Amazon rainforest 5. Mangalyaan has been called “The Super Smart
(C) Assam rainforest Spacecraft”. Which organisation is involved in it?
(D) African rainforest (A) NASA (B) ISRO

2. When a bank statement says ¥ 500 credited to (C) JAXA (D) ESA

your account, it means :
(A) < 500 is deposited in your account

6. If one has lactose intolerance, he /she is likely to

(B) T 500 is withdrawn from your account avoid : :
(C) T 500 is fined on your account (A) Sugar (B) Milk
(D) None of these (C) Honey (D) Alcohol
3. Identify the Indian scientist who found out that when 7. Who is the current President of Indonesia?
light passes through a transparent material, some (A) Shinzo Abe (B) Joko Widodo
of it undergoes change in its wavelength. (C) Xi Jinping (D) None of these
(A) Homi J. Bhabha . ; .
(B) C.V. Raman 8. Ifinthe class while the teacher is teaching a lesson,
(C) C.N.R. Rao then

(A) Itis a good idea to read the same chapter

D) M.S. Swaminathan , .
(_, ) LI v : (B) Itis a good practice to take notes

4. A great amount of work pertaining to Indus Valley (C) Itmatters little as one can catch up in coaching
| Civilisation is being done at village Bhirrana. classes
Where is this village located? (D) None of these

ACHIEVERS SECTION

9. A delightful movie The Gods Must Be Crazy' was 10. is the physicist, engineer and inventor,
made on the tribe of the Kalahari Desert. whose name is synonymous with “small speakers
Which of the following is the name of the tribe? that generate big sound”.

(A) Santhals (A) Jagadish Chandra Bose
(B) Bedouins (B) Sumit Ghose
(C) Bushmen (C) Amar G. Bose

(D) Tuaregs (D) Vinod Dua
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SYLLABUS
Section - 1 ; Synonyms, Antonyms, Analogies and Spellings, Collocations, Phrasal Verbs, Idioms or Proverbs, Homonyms and Homophones, One word,

Adverbs, Adjectives, Articles, Prepositions, Prepositional Phrases, Participle Phrases, Conjunctions, Determiners, Jumbled Words and Punctuations, Tenses,
Question Tags, etc. Words related to leisure, Household items/issues, Social causes, Outdoor locations and activities, etc.

Section — 2 : Search for and retrieve information from various text types like News reports, Blurb, Dictionaries, etc., Understand information p
manual format, Message format and others. Acquire broad understanding of and look for specitic information in longer texts like Editorials, Essays, etc
Section - 3 : Ability to understand situation-based variations in functions like Requesting, Giving information, Expressing surprise, Pronunciation, €tc.
Section — 4 : Higher Order Thinking Questions - Syllabus as per Sections 1, 2 and 3.

Nouns, Pronouns, Verbs,
Voices and Narrations,

resented In nstruction

WORD AND STRUCTURE KNOWLEDGE

1. Choose the odd parr. the director of the museum.

(/B\; gnnoy . Irritate (A) contracting (B) impersonating
( omprehend : Understand S——— . 5
t D) contradictin

(C) Spectator : Onlooker (&) Jmpian ng (D) | g s

(D) Reserve : Supply 3. The transmission of the President’'s speech
Direction (Q. No. 2 and 3) : Choose the correct option. remained ____ interrupted.
2. The thief walked away with the diamond crown (A) mis (B) dis

(C) un (D) il

on display. No one stopped him because he was

READING

- - —

Direction (Q. No. 4 and 5) : Read the following passage 4. According to the passage, choose the statement |
and answer the questions that follow. that is false. |
‘ The greatest threat to life on Earth today comes from (A) Life on Earth is threatened only by global

global warming. This is caused due to multiple factors warming. ,
including human activity. It happens when greenhouse (B) Global warming threatens human beings who

o2 : . live on islands.
s (carbon dioxide, water vapour, nitrous oxide, and
gases ( ' P (C) When the overall temperature on Earth rises

methane) trap heat and light from the Sun in the Earth's . :
t h ik o s tha ovefail tamperature the sea level will also increase.
iy e o i i P (D) Creatures which cannot adapt to higher

‘ on Earth. This impacts people, animals, and plants. temperatures will become extinct.

Many who cannot take the change, die. Global warming — ——— ——
5. “Many cannot take the change.” Here “change”

refers to changes in :
(A) lifestyle (B) food habits
(C) temperature (D) health issues

is affecting many parts of the world, particularly sea
coasts. People living on islands and in coastal areas

are therefore at risk as the polar ice caps melt and sea
levels rise.

SPOKEN AND WRITTEN EXPRESSION

——

Direction (Q. No. 6 and 7) : Sentences 1 and 3 are given. (B) Serving well is an art that can be mastered
Sentence 2 is missing. Choose the right sentence for (C) | saw a doctor because | was suffering from
sentence 2. tennis elbow
6. Sona : Hema, | notice your tennis serve is much (D) In tennis, one has to focus on one's serving
better these days. action
Hema: \ o o b .
| 7. Mala : | was looking for a birthday present for my
Sona: Your efforts have not been wasted. There is nephew but | didn't have much luck. Do you have
a remarkable improvement in your game. any bright ideas? |

(A) Yes, | think I've finally mastered the lechnique,
though it took months of practise
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Mala : | did think about it, but | felt | should take some
trouble and choose something useful.

(A) Some music, maybe?
(B) One need not buy a present for everyone.
(C) You could just give him some money.

(D) Buying a present is something that only the
young enjoy.

Direction (Q.No. 8) : Sentences 1 and 4 are given.
Sentences 2 and 3 are missing. Choose two sentences
that will complete the paragraph.

8. Sentence 1: Today's world is full of gizmos and
gadgets unimaginable to people thirty years ago.

Sentence 2 ;
Sentence 3 :

Sentence 4 : However, keeping abreast of technology

seems a difficult job by itself considering the pace at

which new gadgets appear on the market.

(D) The markets cater to this section and keep
bringing out products that cater to their taste.

(E) Students and the youth like to keep abreast of
technology.

(F) Who would have imagined a world of cell
phones and ipods?

(A) Dand F

(C) EandF

(B) Eand D
(D) Fand D

ACHIEVERS SECTION

SR A o t‘

9. Choose the word with the opposite meaning to the
underlined word.

The bee is a very industrious creature.
(A) Hardworking (B) Indolent
(C) Repulsive (D) Curious

10. Choose the best option.

If a business person is called munificent,
he/she is

(A) prominent
(C) generous

(B) miserly
(D) rich

Total Questions : 50 Time: 1 hr.
PATTERN & MARKING SCHEME
Section | (1) Logical Reasomng (2) Science (3) Achievers Section
No.of Questions | 10 -3 IPPRERFTITE Y s S
SCIENCE OLYMPIAD Marks per Ques. 1 'L 1 3 Scan the QR code
for more detalls
SYLLABUS

Section — 1 : Verbal and Non-Verbal Reasoning.

Section — 2 : Crop Production and Management, Microorganisms, Coal and Petroleum, Combustion and Flame, Conservation of Plants and Animals, Reproduction and
Endocrine System, Force and Pressure, Friction, Sound, Chemical Effects of Electric Current, Some Natural Phenomena, Light.

Section — 3 : Higher Order Thinking Questions - Syllabus as per Section — 2.

LOGICAL REASONING

R - Bl e e, iy g Ay - o A Camee s i

1. Three positions of a dice are shown below. What
is the number opposite to17?

PGP

(A) (B) 3
(C) 5  ([DFE R
2. Select the correct water image of the given
figure.
o O
X
I
A L
A [ v [
A | H ®) | |-
® ® u v

R S T T

B e i e e il e e

A4 [ A L
©) | | (D) | —+

X

- - ° ()

In the given Venn diagram, find the region
representing persons who are educated and
employed but not confirmed in job.

Educated Employed
Confirmed
In job
(A) d
(B) e
(C) b
(D) a,b
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Bees which are not carrying honey fly with a flapping
frequency of 440 Hz while those which are carrying
honey fly with a flapping frequency of 300 Hz. The
sound made by bees which are not carrying honey has
(A) Alower pitch

(B) A higher pitch

(C) Asmaller loudness

(D) A greater loudness

The pressure of the water near the bottom of the
wall forming a dam does not depend on
(A) The depth of the water

(B) The cross-sectional area of the reservoir
(C) Density of water

(D) Atmospherc pressure

Which of the following statements are correct?

|. Substance which undergoes spontaneous
combustion have ignition temperature higher
than the room temperature.

Il. Respiration is a special combustion reaction at
body temperature.

IIl. Formation of rust is an example of slow

combustion.
IV. Combustion is an exothermic reaction.
(A) | and Il only
(B) Il and IV only
(C) I, Il and IV only
(D) I, lll and IV only

Which of the following on reshuffling gives the term
that refers to the process of sowing seeds manually
by sprinkling them on soil by hand?
(A) INLGTIL

(B) GLNOPUIHG

(C) ATNBRDOCAIGS

(D) GIOWNWINN

Which of the following groups represents the
bacterial diseases?

(A) Cholera, Tuberculosis, Malaria, Measles

(B) Small pox, Tuberculosis, Malaria, Typhoid

(C) Cholera, Tuberculosis, Typhoid, Measles

- (D) Cholera, Anthrax, Tuberculosis, Typhoid

ACHIEVERS SECTION

The given figure represents fractional distillation of

petroleum.
P
/ \ i
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Which of the following statements are correct

regarding this process?

~ Pisused in LPG and condenses first.

I. Q, Rand S all are used as domestic fuels.

II. The increasing order of boiling points is
P<Q<R<S<T

IV. Paraffin wax is obtained from T.

(A) Il and IV only

\_]
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(B) | and lll only
(C) II, llland IV only
(D) I, Il and IV only

10.

Refer to the given figures of bacteria X, Yand Z and
read the statements (i), (ii), (iii) and (iv) regarding
them.

§ ¢

(i) Bacterium X can be causal organism of typhoid.

(i) Bacterium Y can cause a disease which disrupts
proper exchange of gases.

(i) Bacterium Z can convert lactose sugar of milk
into lactic acid.

(iv) Bacterium X can be the causal organism of
cholera.
Which of these statements are incorrect?

(A) (i) only

(B) (i) and (ii) only

(C) (ii), (iii) and (iv) only

(D) (i), (i), (iii) and (iv)
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PATTERN & MARKING SCHEME
Eaction (1) Logical (2) Mathematical | (3) Everyday (4) Achievers |
~ Reasoning Reasoning . Mathematics Section
No. of Questions 5 20 | 10 | 5 |
MATHEMATICS OLYMPIAD Marks per Ques 1 ‘ : ) e —=—— 1’ = 3 . | Scan the OR code
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SYLLABUS

Section - 1 : Verbal and Non-Verbal Reasoning.
Section - 2 : Rational Numbers, Squares and Square Roots, Cubes and Cube Roots, Exponents and Powers, Comparing Quantities, Algebraic Expressions, Linear Equations

n On‘e Vanable, Understanding Quadrilaterals, Mensuration, Data Handling, Direct and Inverse Proportions, Factorisation, Introduction to Graphs.
Section - 3 : Syllabus as per Section - 2

Section - 4 : Higher Order Thinking Questions - Syllabus as per Section - 2.

LOGICAL REASONING

1.

Pointing to a man in a photograph, a woman says,
“He is the only son of the only daughter-in-law of

my only son’'s father." How is the man related to
the woman?

(A) Son

(B) Father
(C) Son-in-law
(D) Grandson

Three different positions of a dice are given below:

Y D&

Which number is on the face opposite to 1?

(A) 6
(B) 2
(C) 3
(D) 5

The digits of each of the following five numbers are
written in reverse order and five new numbers are
obtained :

513 726 492 865 149
Which of the following will be the third digit of the

_second highest new number?

(A) 1
(B) 5
(C) 7
(D) 8

MATHEMATICAL REASONING

The area of a rectangle is given by 6x%y + 4y°x and
the width of the rectangle is given by 2xy. Find the
perimeter of rectangle.

(A) 6x + By + 2xy

(B) 3x+ 4y + 2xy

(C) 8x + 6y +4xy

In a class of 100 students, 30% of the students
offered English, 20% offered Hindi. If a student is
selected at random, then what is the probability
that he has offered English?

A) 2 3
()5 (B)4

3 3
(C)g (D)'1—0'

If 3**¥ = 81 and 81 = 3%, then find the values of
x and y respectively.

(A) 3,1

(B) 1,3

(C) -1,3

(D) -1,-3

EVERYDAY MATHEMATICS

Sample Paper | Class-8 | SQF

Sanket earns twice as much in the month of March
as in each of the other months of the year. What
part of his entire annual earnings was earned in
March?

1 1
w1 ®) ¢

2 2
(€) 33 (D) 13 g

8. The perimeter of a triangular field is 6p* — 4p + 9
and two of its sides are p? —2p + 1 and 3p* - 5p + 3.
Find the third side of the field.

(A) 8p*+ 11p—-7
(C) 3p?+5p—-4

(B) 202 +3p+5
(D) 5p*-5p+9




ACHIEVERS SECTION * |

9. Fill in the blanks and select the correct option. 10. Fill in the blanks and select the correct option.

(i) Anumber ending in _(P) number of zeroes is (i) The cost of digging 2 cuboidal pit which is
never a perfect square. 8 m long, 6 m broad and 3 m deep at the rate of
(i) The square of an _(Q) natural number can T30 perm®is P
alwgys bg written as the sum of two consecutive i) Apetroltankis in the form of a cylinder diameter
e e & Cmbers of which is 3 m and length is 7 m. The quantity
o h:aRs)um SUENe Tt pacnacn uiwaa B of petrol that can be stored in it is _Q litres.
. ' 3=1 it
(iv) If (3 x 3 x 7)2 = 3969, then 3969 = _(S) (1200 cm* =1 l: re)
(P) (Q) (R) (S)
(A) Odd even 2n 62 (A) 4320 35800
(B) Even odd n? 69 (B) 4080 49000
(C) Even even 39 (C) 4320 49500
(D) Odd odd n? 63 (D). 3150 30500
| Tl =2 Tl N Total Questions : 50 Time : 1 hr
se— .j.‘j.;‘.‘,_ é o, e ¥
| | | L‘C‘S;l&t q{ PATTERN & MARKING SCHEME
; . b \ 9."-
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\ _i “% = P00 Reasoning (2) Computer Science | Technology Section
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SYLLABUS |

Section — 1 : Verbal and Non-Verbal Reasoning

Section — 2 : Fundamentals of Computers, Algorithms & Flowcharts (Advanced symbols), HTML & CSS [Html, Head, Title, Body (Attributes: Background, Bgcolor, Text, Link, Alink, Viink),
font (Arributes: Color Size. Face), Center, BR, HR (Attributes; Size, Width, Align, Noshade, Color), Comment tag(<!—-->), <H1>..<Hb>, <P>, <B>, <I>, <U>, <IMG>, Html Elements:
A 1l and O (Arnbutes: Type, Stant), L], Flash €56, MS-Access, Networking, MS-Word (Exploring File tab, Language and Translate options, Tracking features -Comments, Reviewing Pane,
Tracking Changes, Comparing, Combining and Protecting documents, Working with References), MS-PowerPoint (Exploring File tab and Slide Show tab, Companng, Combining angd
MS-Excel(Exploring File tab, Useful Formulas and Functions - IFEven, Odd, LCM, GCD, Power, Product, Round, Sqrt, Sum, Min, Max, Average, Count, Upper,

Protecting presentations)

Lower And Replace, Cell referencing, Using Defined Names group ), Memory & Storage Devices, Number System (Introduction), Cyber Safety, Operating Systems(Introduction, Features,
Types-single user and multi-user).

Section — 3 : Al, Robotics, IT Gadgets, Devices, Apps, Computerization, and other Developments in the Field of IT

Section — 4 : Higher Order Thinking Questions - Syllabus as per Sections 2 and 3

Questions are based on Windows 10 and MS-Office 2016.

l— el e .——-M =

1. Select the correct mirror image of the given word,

if the mirror is placed vertically to the right. /[ \
LeOPArD A) K =) g
el
(A) di1A90sL

(B) d1A9091
(C) d1A905] (C)

(D) |
(D) d1AJdO>sd A\

2. Select a figure from the options, which satisfies the = e =
same conditions of the placement of the dots as in 3. Howmany 7s are there in the following series which
Fig. (X). are preceded by even number and followed by odd

number?
p—g 87678675679761677688697687
.( (A) None
2 (B) One
Fig. (X) (C) Two
(D) Three

SQF | Sample Paper | Class-8 ==




COMPUTER SCIENCE

4. Which of the following is not available as a category (B) Toinsert an index into the document
iIn Control Panel of Windows 107? (C) Merge document to PDF files
(A) System and Security (D) Insert Flash video

(B) Network and Internet

(C) Bluetooth Settings 6. CSSis used to style an HTML document. Here, CSS

stands for
: ) Eosh ol Aocess ) (A) Computer Style Sheets
5. The function of given icon in MS- _Iﬁ (B) Combined Sheet Styles
Word 2016 is J (C) Common Sheet Styles
(A) To mark the document as final et (D) Cascading Style Sheets

INFORMATION TECHNOLOGY

l 7. refers to the simulation of human - (D) Allof these -
tntelhgence i machines that are programmed to 8. Which of the following operating systems is used
think aﬁd act like humans. in air traffic control systems, robots and missile
(A) Artificial intelligence systems?

(B) Biometric (A) Real Time OS  (B) Multitasking OS
(C) Bio-technology (C) Batch OS (D) Distributed OS

ACHIEVERS SECTION

9. Which of the following statements hold(s) true about (C) Both Statement 1 and Statement 2
telnet? (D) Neither Statement 1 nor Statement 2
Statement 1 : It allows to connect to remote 10. Select the incorrect statement(s) about smgle user
computers. operating system.

(A) It is useful for a computer intended to run

Statement 2 : It only allows to buy and sell online |
multiple users at once.

roducts. : .
A) Onl Statp At 4 | (B) Itis used by only one user at a time.
) Onty aiaieme (C) Both (A) and (B)
(B) Only Statement 2 (D) None of these
e
Total Questions : 50 Time : 1 hr. -
PATTERN & MARKING SCHEME
: , (3) Social and (4) Achievers
il — Secton | (1)History | (2)Geography | pojitical Life | Section
SO TIONAL No. of Questions 20 sty 15 i 10 5 _
SYLLABUS
Section — 1 : History — Modern India-Sources and Significance, The Establishment of Company Power, Rural Life and Tribal Societies, The Revolt of 1857-58, Education

/ and British Rule, Women, Caste and Reforms, Freedom Struggle in India
Section — 2 : Geography — Resources (Natural, Man-made and Human Resources), Land, Soil, Water, Natural Vegetation and Wildlife Resources, Agriculture and

\ Industries
Section — 3 : Social and Political Life - The Indian Constitution and Secularism, Parliamentary Government and the Judiciary, Social Justice and the Marginalised,

Economic Presence of the Government .
Section — 4 : Higher Order Thinking Questions - Syllabus as per Section— 1,2 & 3.

1 The Silent Valley National Park in Kerala is home to (D) Lion-tailed macaque
I?
alarge population of which sndangered prilmaie’ 2. Which of the following states in India is not prone to
(A) Chimpenas tropical cyclones?
(B) Orangutan (A) Bihar (B) Odisha
(C) Gorilla

S-8 l \Q[ M
- _ A _ . -
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(C) West Bengal (D) Tamil Nadu

3. Who introduced Doctrine of Lapse?
(A) Lord Wellesley (B) Robert Clive
(C) Lord Dalhousie (D) Lord Mountbatten

4. Which tribal group inhabited the Chota Nagpur
Plateau region?
(A) Kol (B) Onge
(C) Bhil - (D) Munda

5. Rabindranath Tagore established the
(A) Maharaja Sayajirao University
(B) Aligarh Muslim University
(C) Visva Bharati University
(D) Kolkata University.

6. Which of the following is not an eligibility criteria to
become a member of the Lok Sabha?
(A) The candidate must be a citizen of India.

(B) The age should not be less than 25 years.
(C) He should have the citizenship of another

country.
(D) All of these

7. If there is a dispute between centre and state for
resources allocation, which of the following has the

authority to hear such case?
(A) High Court

(B) District and Sessions Court
(C) Supreme Court

(D) Both (A) and ( )

8. Which committee was set-up by the government to
examine status of Muslim community in India?
(A) Santhanam
(B) Justice Verma
(C) Sachar
(D) Kelkar

ACHIEVERS SECTION

9. Which of the following statement(s) is/are correct?
(i) The British and the Marathas fought three
wars.
(i) The British annexed Awadh in 1849.
(i) In 1905, Viceroy Curzon partitioned Bengal,
which included Bihar and parts of Orissa.
(A) (i) and (iii) only
(B) (ii) only
(C) (ii) and (iii) only
(D) (i), (it) and (ii)

w7 H W 35

SOF INTERNATIONAL HINDI
OLYMPIAD

i ufa uvA 1

10. Select the option that correctly identifies our
fundamental rights.
(i) Right against exploitation
(n) Right to freedom of religion
(iii) Right to equality
(iv) Rightto freedom
(v) Right to constitutional remedies
(A) (ii), (ii) and (iv) only
(B) (i), (ii), (iii), (iv) and (v)
(C) (i) and (v) only
(D) (

A)
B)
C)
D) (i), (iii) and (iv) only
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